Intermediate 2 – The Short Essay (worth 8 Marks).

THE SHORT ESSAY has an 

· Introduction: short background to the issue and outline the content of the essay

· Main section: paragraphs with a different point discussed in each paragraph 

· Conclusion: which sums up the argument of the essay and answers the question. There should be no new information in the conclusion. 

Let’s look at a Question from Immigrants & Exiles: Why did Irish immigrants struggle to integrate (mix) into Scottish society in, and after, the 1840s?  

Introduction 

· Should set the scene by giving a little bit on the background to the question e.g. During and after the 1840s many Irish immigrants arrived in Scotland. In Ireland, many people were unable to pay rent on their houses. They were facing famine, after a major blight had killed off potatoes, their main food and money provider. Scotland was closest, cheapest and easiest to get to. 

· Signpost the arguments of the essay.  Simply state your arguments why the Irish struggled to mix into Scottish society. A sentence for each argument will do e.g. Many immigrants found it difficult to settle in. They were not always welcomed, because of differences in religion and way of life. Also many Scots were prejudiced towards the Irish.  Perhaps irresponsible and bad behaviour by the Irish also did not help them settle in with Scots.

Do not personalise it e.g.  I am going to write about or I feel that.

Instead of writing I am going to discuss the many reasons why the Irish struggled to mix into Scottish society,  (it becomes)
The Irish struggled to mix into Scottish society for many reasons.

Main Section 

· This is made up of around three to five paragraphs (one for each reason), depending on the essay question. 

· The first sentence of each paragraph should outline the argument or point you are making in that paragraph e.g. Religious differences played an important part in keeping the Irish immigrants apart from the Scots.
· At the end of the paragraph you should refer back & Answer The Question. For example, The Irish felt like outsiders in Scotland, so stuck together even more, which prevented them integrating quickly into Scottish society.

· The last sentence may lead onto the next paragraph e.g. The closeness of the Catholic Church members led to Protestant concerns over a Catholic take-over of Scotland.

Conclusion 

· Use: In conclusion or In summary or To sum up or To conclude or All in all 

· Give your summary of the main arguments, for and against.  What are the most important points or evidence? What arguments or points are least important? Make a judgement e.g. To conclude, religion held Irish immigrants back from integrating into Scottish society. Yet, there were other factors involved. The Irish were accused of working for low pay. They were also accused of taking jobs and housing. (etc)
· Finally, finish off essay by answering the question e.g. Overall, Irish immigrants struggled to integrate into Scottish society in, and after, the 1840s mostly because of Religion.     Remember to leave out terms like I feel that or I think.

Remember, you must ATQ :  Answer The Question! Always make sure you look back at the question to make sure you are answering it properly. You do not want to waste time on something that has nothing to do with the question. You will get no marks for it.

· Write a short plan first so that you have a basic structure to help focus your answer.

· Remember structure. 3 marks are given for a clear introduction, separate paragraphs and a well-rounded conclusion.

Now let’s look at the end product. This is the finished example of our short essay:

Why did Irish immigrants struggle to integrate (mix) into Scottish society in, and after, the 1840s?

During and after the 1840s many Irish immigrants arrived in Scotland, hoping to find work and improve their living conditions. They were often very poor, and many had no choice about leaving Ireland, where the rapidly increasing population was living on poor wages. The Irish were unable to pay rent on their houses and were facing famine, after a major blight had killed off potatoes their main food and money provider. Scotland was closest, cheapest and easiest to get to. However, when they got there, many immigrants found it difficult to settle in. They were not always welcomed, because of differences in religion and way of life, as well as prejudice on the part of many Scots. Perhaps irresponsible and inappropriate (bad) behaviour by the Irish also did not help them settle. It is true that many of the Irish found it difficult to integrate into Scotland, but it cannot be forgotten that the immigrants did all eventually mix with the Scots. 

Religious differences played an important part in keeping the Irish immigrants apart from the Scots. Most of Scotland was Protestant, and wary of the Catholic immigrants, who did not share the same religion and habits as them. The Irish Catholic church was an important part of people’s lives, in both religious and social ways. Their churches in Scotland allowed them to continue their worship as they had done in Ireland, as well as becoming places for the immigrants to meet up. The Catholic church helped to set up youth clubs and football teams. For example, Brother Walfrid set up the Glasgow Celtic Football Team in 1888 to supply funds for needy children. The Catholic church also had a role in organising trips, developing Catholic schools, and becoming a centre of help and support for those in need. The Irish felt like outsiders in Scotland, so stuck together even more, which prevented them integrating quickly into Scottish society. However, The closeness of the Catholic Church members led to Protestant concerns over a Catholic take-over of Scotland.

Sometimes the Scots disliked the Irish simply for being Catholic, and were hostile towards the Irish because many did not make an attempt to mix with the Scots. Many Scots feared the Catholic immigrants to be a threat to their Protestant culture, and some even claimed that the Pope was using Catholic immigrants to try and gain control over Scotland. A general feeling of anti-Catholicism arose, and riots broke out in the 1850s, and again in the 1920s. However, The Irish Protestants, as a whole, found it easier to integrate into Scottish society.

Religion was not the sole reason the Scots and the Irish did not always mix. The Irish immigrants were nearly all poor and had to take whatever work they could find, though some did possess useful skills and were welcomed into the textile industry. The Irish were, therefore, popular with employers and factory owners as they were usually hardworking and willing to work for lower rates of pay than most Scottish employees. The Irish were also known as strike breakers. This caused a number of working class Scots to resent (dislike) the Irish, especially when many Scots found they had to compete for jobs and housing to support their families. Some people argued that Irish immigrants used up most of the money from local taxes that was for supporting the poor. 

The Scots tended to avoid the Irish because they had a reputation for being drunken and violent. Newspapers at the time reported that the Irish were more likely than the Scots to beg, steal or fight. Undoubtedly, the Irish were involved in violence at the time. Yet, it is more than likely that the newspapers showed biased opinions, and failed to write about Scottish violence and crime in so much detail. All this made it very difficult for the Irish immigrants to integrate into Scottish society.

Many immigrants tried to become part of Scottish society by marrying into Scottish families or changing their Irish surnames into their Scottish versions. For example, the Irish name McDade became Davidson, or McNeil. They did integrate by joining trade unions, forming football clubs and by joining political parties with Scots. Large numbers of the Irish Catholic community fought in the First World War, helping them to become part of Scotland. With more Irish children being born in Scotland, the apparent Irish presence in Scotland began to disappear, as the children were considered to be Scottish.

To conclude, religion held Irish immigrants back from integrating into Scottish society. Yet, there were other factors involved. The Irish were accused of working for low pay. They were also accused of taking jobs and housing. Disadvantaged Scots resented the strangers and were wary of them. The Irish were given a bad name as a drunken and violent people, and were therefore avoided by many Scots. However, the Irish did make an effort to be “more Scottish” by changing their names, or taking part in things like trade unions. Overall, Irish immigrants struggled to integrate into Scottish society in, and after, the 1840s mostly because of Religion.

